Summary Plots 0: vqwk_04_Ochs test
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Summary Plots 1: ADC vs event number
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Summary Plots 2: ADCs PPM noise floor at max 7V signal

L_OchO’yle\dilvgvgk | 04_0cho/7 {(CodaEventNumbers1)} Entries 8603
B Mean 1.211e-08
B Std Dev 1.696e-06
200
0 x10°
=10 -5 5 10
|_och2+yieldd@klon_och2/7 {(CodaEventNumber>1)} Entries 8603
L Mean —-3.949e-09
L Std Dev 1.511e-06
200
0 | o ><]_0_6
=10 -5 5 10
1_ochayieldAQa_ochar7 (Codaeventumbers1); Entries 8603
- Mean 2.049e-09
3 Std Dev__ 1.604e-06
200
I x107
=10 -5 5 10
|_ochétyield_vawk|04_0ch6/7 {(CodaEventNumber>1)} Entries 8603
300— Mean —-7.958e-09
| Std Dev 1.811e-06
200
100
0. x10®
=10 -5 5 10

_Ochl*y\eldﬁ/% 104_0ch1/7 {(CodaEventNumber>1)} Entries 8603
i Mean 1.369e-08
| Std Dev 1.47e-06

200—
0 I x107°
=10 -5 5 10
. 0ch3*yield_vaqwk[04_0ch3/7 {(CodaEventNumber>1)} Entries 8603
4001— Mean 1.346e-08
: Std Dev 1.499e-06
200
0. i L x107°
=10 -5 5 10

. Ochs*yield U@ fe# 0chs/7 {(CodaEventNumber>1)} Entries 8603
L Mean 6.152e-09
L Std Dev  1.494e-06

200
I x10°
=10 -5 5 10
. 0ch7*yield_vqwk 84 _0ch7/7 {(CodaEventNumber>1)} Entries 8603
400 Mean -5.912e-09
o Std Dev 1.435e-06
200
0. _ L x10°®
=10 -5 5 10




Summary Plots 3: (PPM noise fl
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